SIDES BOTTOM

80.1 [3.15]

1 PCS #1/4-20X1 1/4 Screws Installed

1 PCS #1/4-20 Hex Nut Installed 26. 35 [20. 250]

Material:Steel-0.0625”-C.R.S Zinc Plated

CUTAWAY VIEW A-A

38.4 [1.51]
D 248. 40 [21.906]

B
29.7 [1.17]

#1/4-20,NUT

#1/4-20,SCREW

26. 35 [20. 250]

25.4 [1.00]
|
|
i
|
}
?9
|
|
[
|

This data sheet is for reference only .GARVIN INDUSTRIES reserves

DESCRIPTION

the right to make changes to the design without prior notice.

"PACKING GARVIN INDUSTRIES

CONDUIT HANGERS

25 PCS SIZE DWG NO. REV

TRADE REFERENCE TERMS

A4 CH-175 A

DATA SHEET

garvinindustries.com



rdomlewski
Typewritten Text
garvinindustries.com




